
M cL (mod 2)

blocks defect matrix

G : 1 7 18× 8
2 0 8961 = χ7, ϕ6

3 = 2 0 8962 = χ8, ϕ7

4 1 2× 1
5 0 98561 = χ21, ϕ12

6 = 5 0 98562 = χ22, ϕ13

blocks defect matrix

3.G : 7 7 18× 8
8 = 7∗

9 1 2× 1
10 = 9∗

11 0 80641 = χ41, ϕ23

12 = 11∗

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ8 ϕ9 ϕ11

11 = χ1 1 . . . . . . .
221 = χ2 . 1 . . . . . .
2311 = χ3 1 . 1 . . . . .
2521 = χ4 . 1 1 . . . . .
7701 = χ5 . 1 . 1 . . . .
7702 = χ6 . 1 . . 1 . . .
17501 = χ9 2 1 1 1 1 . . .
45001 = χ12 . 1 1 . . 1 1 .
47521 = χ13 . 2 2 . . 1 1 .
51031 = χ14 1 1 . 1 1 . . 1
55441 = χ15 4 . 2 1 1 . . 1
80191 = χ16 1 3 . 1 2 . 1 1
80192 = χ17 1 3 . 2 1 1 . 1
82501 = χ18 2 3 1 1 2 . 1 1
82502 = χ19 2 3 1 2 1 1 . 1
96251 = χ20 1 3 1 1 1 1 1 1
103951 = χ23 1 4 1 2 1 1 1 1
103952 = χ24 1 4 1 1 2 1 1 1

ϕ1 = 11
ϕ2 = 221
ϕ3 = 2301
ϕ4 = 7481
ϕ5 = 7482
ϕ8 = 21241
ϕ9 = 21242
ϕ11 = 35841

Block 4: ϕ10

35201 = χ10 1
35202 = χ11 1

ϕ10 = 35201



Blocks 7, 8: ϕ14 ϕ15 ϕ16 ϕ17 ϕ18 ϕ19 ϕ20 ϕ21

1261 = χ25 1 . . . . . . .
1263 = χ26 . 1 . . . . . .
7921 = χ27 . . 1 1 . . . .
19801 = χ28 . . . . 1 . . .
23761 = χ29 1 1 . . . 1 . .
23763 = χ30 1 1 . . . . 1 .
25201 = χ31 . . 1 . . 1 . .
25203 = χ32 . . . 1 . . 1 .
27721 = χ33 . . 1 1 1 . . .
47522 = χ34 . . 1 1 2 . . .
51032 = χ35 . . . . 1 . . 1
78751 = χ38 . . 1 1 2 . . 1
80193 = χ39 . . 1 1 1 . 1 1
80195 = χ40 . . 1 1 1 1 . 1

103953 = χ42 1 1 1 1 1 1 1 1
103955 = χ43 . . 2 1 2 1 . 1
103957 = χ44 . . 1 2 2 . 1 1
123751 = χ45 1 1 1 1 2 1 1 1

ϕ14 = 1261
ϕ15 = 1263
ϕ16 = 3961
ϕ17 = 3963
ϕ18 = 19801
ϕ19 = 21243
ϕ20 = 21245
ϕ21 = 31231

Blocks 9, 10: ϕ22

63361 = χ36 1
63363 = χ37 1

ϕ22 = 63361


